

$$\psi(x) = a \sin \frac{2\pi}{\lambda} x$$

$$\therefore \frac{d\psi(x)}{dx} = a \cdot \cos \frac{2\pi}{\lambda} x \cdot \frac{2\pi}{\lambda}$$

$$\frac{d\psi(x)}{dx} = \frac{2\pi}{\lambda} \cdot a \cdot \cos \frac{2\pi}{\lambda} x$$

$$\frac{d^2\psi(x)}{dx^2} = \frac{2\pi}{\lambda} \cdot a \cdot \left(-\sin \frac{2\pi}{\lambda} x\right) \cdot \frac{2\pi}{\lambda}$$

$$= -\left(\frac{2\pi}{\lambda}\right)^2 \cdot a \cdot \sin \frac{2\pi}{\lambda} x$$

$$= -\frac{4\pi^2}{\lambda^2} \psi(x)$$

∴ $\lambda = \frac{h}{p}$

$$\therefore \frac{d^2\psi(x)}{dx^2} = -\frac{4\pi^2}{\left(\frac{h}{p}\right)^2} \psi(x)$$

$$\therefore = -\frac{p^2}{\left(\frac{h}{2\pi}\right)^2} \psi(x)$$

$$\therefore \frac{d^2\psi(x)}{dx^2} = -\frac{p^2}{\hbar^2} \psi(x)$$

ଓରମ, ଭାରତୀୟ ଜ୍ଞାନୀ,

$$E = K.E + P.E$$

ଗତିକାନ୍ତି + ସ୍ଥିତିକାନ୍ତି

$$= \frac{1}{2}mv^2 + U(x)$$

$$= \frac{m^2v^2}{2m} + U(x)$$

$$= \frac{p^2}{2m} + U(x)$$

$$\therefore E - U(x) = \frac{p^2}{2m}$$

$$\therefore p^2 = 2m [E - U(x)]$$

$$\therefore \frac{d^2\psi(x)}{dx^2} = -\frac{2m}{\hbar^2} [E - U(x)]\psi(x)$$

$$\therefore -\frac{\hbar^2}{2m} \frac{d^2\psi(x)}{dx^2} = [E - U(x)]\psi(x)$$

$$\therefore -\frac{\hbar^2}{2m} \frac{d^2\psi(x)}{dx^2} + U(x)\psi(x) = E\psi(x)$$

$$\therefore \left[\frac{\hbar^2}{2m} \frac{d^2}{dx^2} + U(x) \right] \psi(x) = E\psi(x)$$

$$\Rightarrow \boxed{\hat{H}\psi(x) = E\psi(x)}$$